MAC1140 Precalculus
5.4 Practice Problems

1. Use the graph to find the following.
Domain: (‘00;3)\) L%,OO) Range: (‘(3013)U(.1900>

1O

x-intercepts: ( l, {)\) y-intercepts:

Horizontal Asymptote: \‘! — (
X=5

Oblique/SlafAsymptote:_ VLOVE

Vertical Asymptote(s):

2. Use the graph to find the following.
Domain:(“oo ,’l) U(’l, 3)"‘(3;'”) Range: (—00, JX V) r(a 5 ) ‘“’0)

x-intercepts: (”"llf)) ) { 6, 0) y-intercepts: (o Y s7> C\
j NN

Horizontal Asymptote:  \J = o~ 5o g-k“x g
T \{ 3 X
i . X=2, x=7% Wbt M=
Vertical Asymptote(s): & ”,1”;—»"“”“

Oblique/SlaffAsymptote: N OY 1€

3. Use the graph to find the following.
Domain: ( 0o, L})U( "/! 73}&) (5/%nge: ( o) 99) i
x-intercepts: ( "“3 ,0) ) ‘\Lf / O) y-intercepts: ‘ 0,) ) -

Horizontal Asymptote: \-‘! =)
‘Vertical Asymptote(s): X=" t—)'/ =3
Oblique/SlafAsymptote: Nong

4. Use the graph to find the following.

Domain: (‘M; O) U (O ) 59

Range: ( ‘Wmaw\}

x-intercepts: (Wlﬁ; U\) } f?g 0)  y-intercepts: NOGYUL
Horizontal Asymptote: oL
Vertical Asymptote(s): X=0
Oblique/ Slaﬁ\Asymptote: \1 =% A
~_ [ Mf";
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5. Graph the base function. Identify the location of any vertical -~

horizontal asymptotes. N
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6. Graph the rational function using transformations.

f(x)=-—xi2+5

Base. M= %&ﬁ
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7. Graph the base functlon Identlfy the location of any vertical _|

horizontal asymptotes.
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8. Graph the rational function using transformations.
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9. Find the domain of the following rational functions.

. 3 +1 3x°—6 x+2
a. f(x)Zm b. g(x):%_? D (-29,3)U(300) - h(x)z“x_xj_zx—+
K2=0 e 250 D: (-0, 2)0(2)%)
e 2= o =
x==2 | = = x=2
, %=
D! (~eo 'D—»WC 1/"@ ‘%2 4
—9 x +2x—15 x —16
d R = x . G = f G =
o (x) X +x—2 © (x) x°=25 (x x°+9
KO0 Dilwobley  £-s=0 4920
(X+2X-1)= (X45)(X-2)=0 W« 2=-9
Xta=o X-|=0 r15=0 X-5=0
K= x =) K== =S &__... =
o -
10. Find the vertical asymptotes of the functlon 1f any. -
a f(x)=—3——~ _%_‘ b (x): x+1 = X ‘+‘ c h(x)_3x2—6x+2 ,3K.<0X+1—
' x+2 ° Xy~ - & 2x—6 ) T x=2 = W ke
L 43=0 AX-=0 X-o» =0 |
X=""o gj;yﬁ. \ Yoo X
=2 NpiX=3 A=
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‘ = - — - 4
d. R(x)— (X-i%})( 3»\ G(x)= x+2x 15 Q(fix )f (x)= 16 (X LF)(X T+
Chx— 2 X)X~ ) x’-25 M(x_aﬂ X +9 w9
X+ (=0 y — X-3 _ )2 (X9
S=0 =
X+2=0 X-{=0O > P L )@q;g £ 9
K=o X=- ‘ SIFAAR X5=-9
e y= —A; = | \/R‘X 5 X =430 NO \ A
11. Use your work from above to decide if the function has a hole. Identify the location of the holes, if any.
__3__ _ x+1 _3x —6x+2
a. f(x)—x+2 b. g(x)—zx_6 c. h(x)——x_2
No ha\e No hole No hole
2
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12. Find the horizontal asymptote or oblique asymptote of the functions, if any.
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13. Find any points for which the graph crosses the horizontal or oblique asymptote. f
_3 _ x+1 HA=9q() 3x°—6x+2  CA=h(X)
a. f(x)_x_+2— b. g(x)_m (j C. h(X) —x——z—"
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14. Find the intercepts of the rational funct10n . ,
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a flr)==> b glx)=ri. ol h(x)=2E 02 T 012
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15. Use the information in 9-14 to graph a-f.




Use the function £ (x)=

> to answer the following questions.

2=
16. Find the domain of the function.
Y=9=0
(x+B)(x-2)=0O
X+H=0 X-3=0
X=-2 X7

D. (-0, 2)0(33W(3)00)

17. Find any vertical asymptotes or holes in the graph.

L)= 22
(XH)x3)

(+)(x>) =0
Xt270 X 5=0
=3 x=3>

18. Find any horizontal or oblique asymptotes and any points where the function crosses these asymptotes.

PU 2% =7 Degree | 0= ;?
NGad ~/7D€,<1‘}f~€,{,7 &)(2/00(0 _ % }k
fuse 4 =S 0= .E;%
X

'19. Find any x or y intercepts.
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20. Use the lnformatlon to graph thc function. St o _ :
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